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False; log<§> =logz —logy #

False; log,z — log, y = log, (g) # log,(z — )

True; the equation is an identity: logsgi2 =log,a — logsb2 = log,a — 2logb.

True; the equation is an identity: log2® = zlog2.
False; log P + log Q = log(PQ) # (log P)(log Q).
1

False; loga —logb = log(%> ——1222.

False; zlog,7 = log,7" # (log,7)".

True; the equation is an identity. log,a” =alog.a=a-1=a.

1
False; log(z —y) # % . For example, 0 = log(3 — 2) i%i—g-.

True; the equation is an identity: —In(1) = —InA™! = —1(=In A4) = In A.
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